AP Stats Chapter 2 Exam Review
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
For the density curve below, which of the following is true?
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	A.
	The median is 0.5.

	B.
	The median is larger than 0.5.

	C.
	The density curve is skewed right.

	D.
	The density curve is Normal.

	E.
	The density curve is symmetric.


Figure 1-1
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____
2.
Use Figure 1-1. For this density curve, which of the following is true?

	A.
	It is symmetric.

	B.
	The total area under the curve is 1.

	C.
	The median is 2.5.

	D.
	The mean is 2.5.

	E.
	All of the above.


____
3.
Use Figure 1-1. For this density curve, what percent of the observations lie above 4?

	A.
	20%

	B.
	25%

	C.
	50%

	D.
	75%

	E.
	80%


____
4.
Use Figure 1-1. For this density curve, what percent of the observations lie between 0.2 and 3.8?

	A.
	10%

	B.
	20%

	C.
	28%

	D.
	68%

	E.
	72%


____
5.
You are told that your score on an exam is at the 85 percentile of the distribution of scores. This means that

	A.
	Your score was lower than approximately 85% of the people who took this exam.

	B.
	Your score was higher than approximately 85% of the people who took this exam.

	C.
	You answered 85% of the questions correctly.

	D.
	If you took this test (or one like it) again, you would score as well as you did this time 85% of the time.

	E.
	85% of the people who took this test earned the same score you did.


____
6.
The 35th percentile of a population is the number x such that

	A.
	35% of the population scores are above x.

	B.
	65% of the population scores are above x.

	C.
	35% of the population scores equal x.

	D.
	x is 35% of the population median.

	E.
	x is 35% of the population mean.


____
7.
The five-number summary of the distribution of scores on the final exam in Psych 001 last semester was:

	18
	39
	62
	76
	100


The 80th percentile was:

	A.
	76

	B.
	between 18 and 39

	C.
	between 62 and 76

	D.
	between 76 and 100

	E.
	probably between 39 and 76, since most of the class scored between these two numbers.


____
8.
A score’s percentile is a measure of

	A.
	center

	B.
	spread

	C.
	relative location

	D.
	skew

	E.
	relative frequency


____
9.
Here is a list of exam scores for Mr. Williams’s calculus class:

	60
	61
	61
	65
	72
	75
	75
	78
	81
	81
	85
	89
	91
	98


What is the percentile of the person whose score was 85?

	A.
	15%

	B.
	21%

	C.
	29%

	D.
	71%

	E.
	85%


____
10.
Consider the following cumulative relative frequency graph of the scores of students in an introductory statistics course: 
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A grade of C or C+ is assigned to a student who scores between 55 and 70.  The percentage of students who obtained a grade of C or C+ is

	A.
	15%

	B.
	20%

	C.
	25%

	D.
	30%

	E.
	50%


____
11.
The distribution of household incomes in a small town is strongly skewed to the right.  The mean income is $42,000 and the standard deviation is $24,000.  The Ames family’s household income is $60,000.  The z-score for the Ames family’s income is

	A.
	–0.75

	B.
	0.3

	C.
	0.75

	D.
	0.86

	E.
	None of these, because z-score cannot be used unless the distribution is Normal.


____
12.
The mean number of days that the midge Chaoborus spends in its larval stage is 14.1 days, with a standard deviation of 2.2 days.   This distribution is skewed toward higher values. What is the z-score for an individual midge that spends 12.7 days in its larval stage?

	A.
	–1.11

	B.
	–0.64

	C.
	0.64

	D.
	0.94

	E.
	None of these, because z-score cannot be used unless the distribution is Normal.


____
13.
Ramon is planning on buying a new car.  He’s looking at the Ford Escape—a sport-utility vehicle—which gets 28 highway miles per gallon, and the Ford Fusion—a mid-sized sedan—which gets 31 highway miles per gallon.   The mean fuel efficiency for all sport utility vehicles is 23, with a standard deviation of 7.6.  The mean of all mid-sized sedans is 27, with a standard deviation of 5.2.  Which vehicle has a better standing, relative to others of the same style?

	A.
	The Ford Fusion sedan has a better relative standing, because it’s z-score is higher

	B.
	The Ford Fusion sedan has a better relative standing., because it’s z-score is closer to 0.

	C.
	The Ford Escape SUV has a better relative standing, because it’s z-score is higher

	D.
	The Ford Escape SUV has a better relative standing, because it’s z-score is closer to 0.

	E.
	We can’t make any comparisons unless we know that the distribution of fuel efficiency for vehicle types is Normally distributed.


____
14.
A data set is Normally distributed with a mean of 25 and a standard deviation of 8.  If you calculate the standard score of every observation in this data set, the resulting scores will have a distribution that has

	A.
	a mean of 100 and a standard deviation of 10.

	B.
	a mean of 25 and a standard deviation of 10.

	C.
	a mean of 25 and a standard deviation of 1.

	D.
	a mean of 1 and a standard deviation of 1.

	E.
	a mean of 0 and a standard deviation of 1.


____
15.
If 30 is added to every number on a list, the only one of the following that is not changed is

	A.
	the mean.

	B.
	the mode.

	C.
	the 75th percentile.

	D.
	the median.

	E.
	the standard deviation.


Scenario 2-1

A sample was taken of the salaries of 20 employees of a large company.  The following are the salaries (in thousands of dollars) for this year.  For convenience, the data are ordered.

	28
	31
	34
	35
	37
	41
	42
	42
	42
	47

	49
	51
	52
	52
	60
	61
	67
	72
	75
	77


Suppose each employee in the company receives a $3,000 raise for next year (each employee's salary is increased by $3,000).
____
16.
Use Scenario 2-1. The mean salary for the employees will

	A.
	be unchanged.

	B.
	increase by $3,000.

	C.
	be multiplied by $3,000.

	D.
	increase by [image: image4.png]+/$3,000





	E.
	increase by $150.


____
17.
Use Scenario 2-1. The median salary for the employees working for the company will

	A.
	be unchanged.

	B.
	increase by $3,000.

	C.
	be multiplied by $3,000.

	D.
	increase by [image: image5.png]+/$3,000





	E.
	increase by $150.


____
18.
Use Scenario 2-1. The standard deviation of the salaries for the employees will

	A.
	be unchanged.

	B.
	increase by $3,000.

	C.
	be multiplied by $3,000.

	D.
	increase by [image: image6.png]+/$3,000





	E.
	decrease by $3,000.


____
19.
Use Scenario 2-1. The interquartile range of the salaries for the employees will

	A.
	be unchanged.

	B.
	increase by $3,000.

	C.
	be multiplied by $3,000.

	D.
	increase by [image: image7.png]+/$3,000





	E.
	decrease by $3,000.


____
20.
Use Scenario 2-1. The z-scores of the salaries for the employees will

	A.
	be unchanged.

	B.
	increase by $3,000.

	C.
	be multiplied by $3,000.

	D.
	increase by [image: image8.png]+/$3,000





	E.
	decrease by $3,000.


____
21.
The Normal curve below describes the death rates per 100,000 people in developed countries in the 1990’s.
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The mean and standard deviation of this distribution are approximately

	A.
	Mean[image: image10.png]


100; Standard Deviation [image: image11.png]


65

	B.
	Mean[image: image12.png]


100; Standard Deviation [image: image13.png]


100

	C.
	Mean[image: image14.png]


190; Standard Deviation [image: image15.png]


65

	D.
	Mean[image: image16.png]


190; Standard Deviation [image: image17.png]


100

	E.
	Mean[image: image18.png]


200; Standard Deviation [image: image19.png]


130


____
22.
Which of the following dot plots would best be approximated by a Normal distribution? 
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	A.
	A

	B.
	B

	C.
	C

	D.
	D

	E.
	E


____
23.
Items produced by a manufacturing process are supposed to weigh 90 grams.  The manufacturing process is such, however, that there is variability in the items produced and they do not all weigh exactly 90 grams.  The distribution of weights can be approximated by a Normal distribution with mean 90 grams and a standard deviation of 1 gram.  About what percentage of the items will either weigh less than 87 grams or more than 93 grams?

	A.
	0.15%

	B.
	0.3%

	C.
	6%

	D.
	94%

	E.
	99.7%


____
24.
Birthweights at a local hospital have a Normal distribution with a mean of 110 oz. and a standard deviation of 15 oz.  The proportion of infants with birthweights under 95 oz. is about

	A.
	0.159.

	B.
	0.025.

	C.
	0.341.

	D.
	0.500.

	E.
	0.841.


____
25.
Birthweights at a local hospital have a Normal distribution with a mean of 110 oz. and a standard deviation of 15 oz. The proportion of infants with birthweights between 125 oz. and 140 oz. is about

	A.
	0.136.

	B.
	0.270.

	C.
	0.477.

	D.
	0.636.

	E.
	0.819.


____
26.
IQs among undergraduates at Mountain Tech are approximately Normally distributed. The mean undergraduate IQ is 110. About 95% of undergraduates have IQs between 100 and 120. The standard deviation of these IQs is about

	A.
	5.

	B.
	10.

	C.
	15.

	D.
	20.

	E.
	25.


____
27.
Using the standard Normal distribution tables, the area under the standard Normal curve corresponding to Z  1.1 is

	A.
	0.1357.

	B.
	0.2704.

	C.
	0.8413.

	D.
	0.8438.

	E.
	0.8643.


____
28.
Using the standard Normal distribution tables, the area under the standard Normal curve corresponding to Z  –1.22 is

	A.
	0.1112.

	B.
	0.1151.

	C.
	0.4129.

	D.
	0.8849.

	E.
	0.8888.


____
29.
Using the standard Normal distribution tables, the area under the standard Normal curve corresponding to -0.5  Z  1.2 is

	A.
	0.2815.

	B.
	0.3085.

	C.
	0.3661.

	D.
	0.5764.

	E.
	0.8849.


____
30.
A soft-drink machine can be regulated so that it discharges an average of ? oz. per cup. If the ounces of fill are Normally distributed with a standard deviation of 0.4 oz., what value should ? be set at so that 98% of 6-oz. cups will not overflow?

	A.
	5.18

	B.
	6.00

	C.
	6.18

	D.
	6.60

	E.
	6.82


____
31.
The five-number summary of the distribution of 316 scores on a statistics exam is:

	0
	26
	31
	36
	50


The scores are approximately Normal. The standard deviation of test scores must be about

	A.
	0.67.

	B.
	5.0.

	C.
	7.5.

	D.
	10.

	E.
	55.


____
32.
The plot shown below is a Normal probability plot for the total annual cost (tuition plus room and board). to attend 126 of the top colleges in the country in 2005.  Which statement is true for these data?
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	A.
	The data are clearly Normally distributed.

	B.
	The data are approximately Normally distributed.

	C.
	The data are clearly skewed to the left.

	D.
	The data are clearly skewed to the right.

	E.
	There is insufficient information to determine the shape of the distribution.


AP Stats Chapter 2 Exam Review

Answer Section
MULTIPLE CHOICE

1.
ANS:
B
PTS:
1
TOP:
Density curve features

2.
ANS:
E
PTS:
1
TOP:
Density curve features

3.
ANS:
A
PTS:
1
TOP:
Density curve calculation

4.
ANS:
E
PTS:
1
TOP:
Density curve calculation

5.
ANS:
B
PTS:
1
TOP:
Percentiles

6.
ANS:
B
PTS:
1
TOP:
Percentiles

7.
ANS:
D
PTS:
1
TOP:
Percentiles

8.
ANS:
C
PTS:
1
TOP:
Percentiles

9.
ANS:
D
PTS:
1
TOP:
Percentiles (from data)

10.
ANS:
B
PTS:
1
TOP:
Cumulative freq. graph

11.
ANS:
C
PTS:
1
TOP:
Z-score calculation


12.
ANS:
B
PTS:
1
TOP:
Z-score calculation


13.
ANS:
A
PTS:
1
TOP:
Compare relative standing

14.
ANS:
E
PTS:
1
TOP:
Mean and standard deviation of standard scores

15.
ANS:
E
PTS:
1
TOP:
Impact of transformation on numerical summaries

16.
ANS:
B
PTS:
1
TOP:
Impact of transformation on numerical summaries

17.
ANS:
B
PTS:
1
TOP:
Impact of transformation on numerical summaries

18.
ANS:
A
PTS:
1
TOP:
Impact of transformation on numerical summaries

19.
ANS:
A
PTS:
1
TOP:
Impact of transformation on numerical summaries

20.
ANS:
A
PTS:
1
TOP:
Impact of transformation on z scores

21.
ANS:
C
PTS:
1
TOP:
Mean and standard deviation of Normal from graph

22.
ANS:
E
PTS:
1
TOP:
Recognizing Normal distribution

23.
ANS:
B
PTS:
1
TOP:
68-95-99.7 rule


24.
ANS:
A
PTS:
1
TOP:
68-95-99.7 rule


25.
ANS:
A
PTS:
1
TOP:
68-95-99.7 rule


26.
ANS:
A
PTS:
1
TOP:
68-95-99.7 rule


27.
ANS:
E
PTS:
1
TOP:
Standard Normal Calculations

28.
ANS:
E
PTS:
1
TOP:
Standard Normal Calculations

29.
ANS:
D
PTS:
1
TOP:
Standard Normal Calculations

30.
ANS:
A
PTS:
1
TOP:
Inverse Normal Calculations

31.
ANS:
C
PTS:
1
TOP:
Standard deviation of Normal distribution from quartiles

32.
ANS:
C
PTS:
1
TOP:
Normal Probability Plot

